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HiEEME

+ ENiBEE ( First Pass Yield, FPY ) B4~ m
mBK/ER—IrEts , ALAEIRE~ RS,
TERENIRERNEMIRR.

« HFENERE | BEFZIRAL00MIREIAR
HliESS—XRiEE 7 FrE R SREE.

o EItb , E3E~=ZANRT ( Rework ) si{iEEAE
A= . BABFIAEERAITER,
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itEas

lE . BN imiEA5E(FlAER. B—XETXS5IRE
0.95, 0.93, 0.98, 0.98, 0.94,

A , BN inEREEZRolled Throughput Yield
e S MEIT =RAIETR,

RTY = 0.95%x0.93x0.98x0.98x0.94= 0.7976
BREEE | KAZE80%RIF=mul AT IRIREIT X 51
{EALEE BRI TRTE.
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¢ SIBE : BEFLZETIFIZAL00MEE |, EhltEh
IR T ( Re-run)zk4(2 ( Re-work) 5 , REZEI
ZTFHSEEE.

* (M ERERIZEIBE—1 S | HIERSEE
BHASKEHIENQCDIZHIEY . RBHIEMNEEE
=4 2HiEZ QCDIEHITYE.

BiEERRMEVEIFREEHITEDREIE , IREIEiREMRE = mERE

—HhEED , BiEERHE , AT , FiEES.
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222151

ERGEST
-2 £2ED EI L
BAHE 500 496 494 490
HiEFRR 12 4 22 10
—RSREE 488 492 472 480
BT SEHE 8 2 18 8
RESRHE 496 494 490 488
HEE—IREgE 97.60% 99.19% 95.55% 97.96%
HIESEE 99.20% 99.60% 99.19% 99.59%
HiEFARE 0.80% 0.40% 0.81% 0.41%
—IREHE (480/500 ) x100%=96.00%
atg= (488/500 ) x100%=97.60%
= (488/500 ) x (492/496 ) x (472/494) x (480/490) x100%=90.61%
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